
19-8003-123-02

RT5 SL IP-ON EXHAUST,  SS/ALUM

BMW S1000RR
2010-11

 E :  J a r d i n e @ S u p e r T r a p p . c o m                          T E C H :  ( 2 1 6 ) 2 6 5 - 8 4 0 0

0
8

-5
0

-4
7

2
4

1
R

E
V

. 
A

PARTS INCLUDED

Ref. Part Number Description Qty

1) 00-200-02392 Slip-on Midpipe Assembly 1
2) 00-200-02394 RT5 Muffler, Aluminum 1
3) 00-200-02398 Midpipe Heat Shield 1
4) 03-46-47231 Muffler Adapter Bracket 1
5) 01-510812525-SS M8-1.25x25mm Socket Button Head Bolt 1
6) 01-7408125-27 M8-1.25 Hex Flange Nut 2
7) 07-38-42068-35 T-Bolt Clamp 1
8) 07-38-32HC #32 Hose Clamp 1



19-8003-123-02

RT5 SL IP-ON EXHAUST,  SS/ALUM

BMW S1000RR
2010-11

NOTE: Make sure the motorcycle is cool and
secure on a service lift or stand before
attempting any installation.

1) Loosen the stock muffler inlet clamp bolt.
(Fig. 1)

2) Remove the bolt that secures the stock
resonator to the right side rider footpeg.
(Fig. 1) Remove the stock resonator.

3) Remove the stock heat shield form the
under-body muffler outlet.

4) Loosely place the provided t-bolt clamp over
the notched inlet of the Jardine slip-on
midpipe. Slide the midpipe onto the
under-body muffler outlet tube. (Fig. 2) Do
not tighten clamp at this time.

5) Using the original resonator mounting bolt,
and one supplied M8-1.25 hex flange nut,
loosely secure the muffler adapter bracket to
the rider footpeg mount, as shown. (Fig. 3)

6) Slide the Jardine muffler onto the midpipe
outlet. Position the midpipe and muffler, and
secure to the muffler adapter bracket using
the supplied M8-1.25x25mm button head
bolt, and M8-1.25 hex flange nut. Do not fully
tighten at this time. (Fig. 3)

 E :  J a r d i n e @ S u p e r T r a p p . c o m                            T E C H :  ( 2 1 6 ) 2 6 5 - 8 4 0 0

TOOLS REQUIRED
Ref. Description

1) 3/8” Drive Ratchet
2) 3” Extension
3) 8mm Socket
4) 10mm Socket
5) 12mm Socket
6) Phillips Screwdriver

Ref. Description

7) 5mm Allen Socket
8) 8mm Allen Socket
9) 8mm Wrench

10) 11mm Wrench
11) Torque Wrench
12) Spring Tool or Needlenose Pliers

INSTALLATION INSTRUCTIONS

Fig. 1

Fig. 2



19-8003-123-02

RT5 SL IP-ON EXHAUST,  SS/ALUM

BMW S1000RR
2010-11

 E : J a r d i n e @ S u p e r T r a p p . c o m                            T E C H :  ( 2 1 6 ) 2 6 5 - 8 4 0 0

7) Thread the supplied hose clamp into the
bracket provided on the back of the new
midpipe heat shield. Slide the tab on the new
heat shield into the mount on the under-body
muffler outlet.

8) Position the complete slip-on exhaust in the
best possible orientation. Fully tighten the
midpipe t-bolt clamp, then the muffler adapter
bracket and muffler mounting bolts. Lastly,
fully tighten the hose clamp securing the
midpipe heat shield. (Fig. 4)
NOTE: Make sure that the t-bolt clamp is
covering the notches on the midpipe inlet.

9) Clean any fingerprints and grease from the
muffler and heat shield.

10)Start the motorcycle, look and sound better
than you did before you started Step 1.

INSTALLATION INSTRUCTIONS

Fig. 3

Fig. 4



Jardine Performance Products is manufactured by SuperTrapp Industries, Inc. in Cleveland, OH.  Our exhausts, 
highway bars, backrests, fender kits & accessories for V-Twin, Metric, Sport & Dirt applications are made in the 
U.S.A. Jardine  has been manufacturing  performance   products since 1959.   

Terms & Conditions 

Returns:  All requests for product returns must be made within 30 days from date of purchase.  The return has to 
have a Return Material Authorization (RMA) number from Jardine and must include a copy of the original purchase 
invoice.  Customer pays for the return freight and Jardine will exchange product or process a credit to your account. 
All returns must be in the original packaging to be eligible for any credit or exchange.  Any return sent C.O.D. will 
not be accepted.  Special order sales are final and may not be returned. 

All warranty claims must be made through your point of purchase.    

Limited Warranty:  Jardine’s warranty extends to the original purchaser only and a copy of the sales receipt must 
be provided.  Keep your receipts.  Jardine products are warranted against defective materials and workmanship for 
a period of 1 year from date of   original customer purchase and to the original customer only.  Proof or purchase is 
required.  Any non-defective, unopened, unused, not installed item may be returned within seven working days of 
receipt and will be subject to a 15% restocking / repackaging fee.  Bluing and / or discoloration of chrome exhaust 
systems / products are not covered. Contact the Jardine Customer Service Department directly at 216-265-8400 to 
obtain a Return Material Authorization (RMA) number prior to return of product. Authorized product will be repaired 
or returned at Jardine’s discretion. Jardine is not responsible for any other expenses, including labor for removal of 
defective parts incurred by the customer under the terms of this warranty.  Nor shall Jardine be responsible for any 
damages whether consequential, special, contingent or otherwise, or expenses or injury arising from the use of 
Jardine products.  A detailed copy of Sale Terms, Conditions and Warranty information is available at request. 

Jardine and Jardine Performance Products are registered trademarks of SuperTrapp Industries, Inc. and may not 
be used without consent from SuperTrapp Industries, Inc.  SuperTrapp Industries, Inc. retains all marketing rights to 
its products and trademarks.   

E: Jardine@SuperTrapp.com                              www.JardineProducts.com                             TECH: (216) 265‐8400            

REV: A    9‐12‐13 




